





=
X% O
N

i T 08 > A st it

e —

=

=
% 51t
AR

Bl = —=

(3R &)

2
HEAH

IEAL
RieA DI
2T HHE

ot D6 I} 3%

BEEHAL
RBHEALS

B AR 4
eme | PR
EFRAERE
.fﬁﬁﬁ
l PN
)
Eramie B .o =
2+ A\ ES
HERE | A AR

ThEAE



=
o
N

i T 08 > A st it R

BEEHAL
RBHEALS

BEfAE

BERRESRE




i TR N > R

e —

=

= ek
i

Hy i
o [l
o di

Bt A B
pEHEAR TR

HAAR . 2%2

ot DB T} 5%

AE BRRAEER
EE 2EHABISE - BAEVERE

STE R

h

%nitA% ““ALEI.F3¢E"_E1;R1£|:

5| b — IF

ATBER -

Z%Eﬁk%(ﬁg)ﬁ’ﬂﬁfﬂu
BEWE - CEHIE -



i TR N > R

—l—

3]

= Bk
Bl
AE

BEEHAL
RBHEALS
BEFAER

BERRESRE

22 [
. A
22

& o\ 3 . 4
@. . SR
. . Yy
Sl /

870\ 3R




% A2 BiEEFIEE

Tl =] Ex XE mE
AN At WA AR

21

2\Ya N N( \( N (

ol e | oee | 22t || B8
19 | miE || RS =0 &
22| zm | w8 | = || =5

10 10

}E At A ﬁg
2 6

J \_ VAN )\5)\ J \_ J

u (_,__,_ ‘ 4 rﬂz\
000001

wHenr B4R /27 {FXA5.687:37 1FX23B7:25




ul AR EBEFIEE

1 1 o
- = FH =l

21

<7 — B3 33 miE || R

= IJL=F8 = =R | BB
35 o

J ~




% A #ﬁ%ﬁtbFﬂEE

SFEFE>15%

EEERRI1 233 ﬁﬁls 4.5+ 63 ﬁﬁlz .78 9EFE9H

QE:JE 10« 1112 2 EFE645 13 14-15EFE3 4% - 16 E 30 EFELY -
N}=x BEeER e — SRR RE AEER - GaE—EERES

J:E gu F&R/EH/HEEMER>67

UL E B - REEERIES

mTRRER, BFEE29 B TENER ., AFEE25
BT HEYAER, BFES2H

4 Elﬁl:l,f% A 1A E — S 015670 (BB mELR)
2. 038 1% . KIN4.573// N IN1.59/ 2=320.57 (% /N7

Z<IR
1o ) BE2mT ; EmEs Lt
N

4 ﬂﬁ%% EASIosE aam) SRR FEHERQ/)NF0.37)
HE—EBHO82) &% E4H
=R

10 ) IFREST3EHERI34/NEG ; 27/M ; 200 B




i TR N > R

= BEEHAL

=
% 3
N

pEHEAR TR

e B e

Hp fiE

N ET
© dil
aft IE) JUf s

BERRESRE

=» TEN HKER BHR#

BEFA

HE

BEH®  EEE SRR

NF—H - BEET



=
o
N

i T 08 > A st it R

5
HmE

A

2N

W
B A

RieA DI
g PrEhiE




= o B E T
z a% o BRENEEAE %Efcﬁa‘
& A fe B TN AL
= 5 HEER
e my  BHARKERNSE - S5
et 1TI *—l% nit(ﬁ =1 /IS /R B I 2 1E R
v PESTARERSERERRAY
A =

T

19 32 §5 /35 37) - %%swse-ziqf%ﬂ%nﬂ




=
o
N

i T 08 > A st it R

BERHAL

4-:@.?”$
3—51

yi 3

| Al A B



i TR N > R

ot
T
i TED T 3¢

BRI
. AL

BHBRBREREAS

BERHE Z=8—
BAAER EE—

& - o3E30{EERE

Rk - RIGHEETR

AP RHASBREERILF

EELEF (BRFRHEERTEELRE

(

J-_

SFHEK LR Z)



=
X% O
N

i T 08 > A st it

e —

=

=
% 51t
AR

Bl = —=

(3R &)

2
HEAH

IEAL
RieA DI
2T HHE

ot D6 I} 3%

BEEHAL
RBHEALS

B AR 4
eme | PR
EFRAERE
.fﬁﬁﬁ
l PN
)
Eramie B .o =
2+ A\ ES
HERE | A AR

ThEAE






AR A

1.7 E g e

2. HE T waseo/mper/span)
3.%%%&

48525

Eﬁ%éﬂi*%
1.BEERABE
2/-_/}_$$ZE:
3.AEEERERK

Bk B 71 28 B0 AR
1.3 08 T BE
2.5 PR

3HENEE

It\iiiﬂu'%ﬁ
1.BEEESRS

I]]H




L

1. WS ) e nimpzy/manm)

245
3R
4.1

% n% TE

ik

*Hﬁkﬁéﬁ

mSHENES

1.8

2.FEHE

::é/‘l-AB_E

S AEREL

4.H
HEE I

n\l:l ﬂ FI?Jb\ Hﬁt

1.5 08 = B

2ENSE

1003 Bl B

1.5 4w

2 7o 1% o] Bl 5

P EEERABX;

"




AR AE

1.8 R B (ann/mmme/ mE g
2.0 = S FAEIEEE

3.2 RIEFKIEE
MEERREZES

124 FRABE

2.E EHEFMEERREEE)
3EEREEK

4 5 G ‘f%fﬂ%%%?-
HJGE‘ :%Efri;?:’unﬁe

1 H%%EFHE%N\ EEB

2ENEE

o] — G A5 18 B 22 h B

1ILn3E R B
1.EFEEIlsR




ER A TEIESIE

1. FBABEE @ REE

2 EERSE R EC

4

«E

4. FRE HS'Z :""éIQH“]

ox Bl %z F ST X BRI A _H_E_z_riﬁil_
FEHEACERS
3. R REEHECERTF
1 BEY

II\
}
VL
5

i
I

4
N
-
»
<

o D

<.

B
i

BIChERET =
$ﬁ§‘f‘ﬂﬁ?ﬁﬁ

BREW - () 2 BRIR

£l
()2 () =
f BERE: Bepa:
R W EIDER RS IR HARAER WRED R R E AR
ki =[] ()4 1 8 =

BAMANH - HLBNT RATHEIA
106k 106.8-109.6

BNEESERSSHhET M

e

— EREFRHHNE —

BIFIEEE FEBIEHREK




$5E§5ﬂ1 OECHA

s T _FEHEEXRFEENA

- kETh T+ _FBHREEARAHB SN
s P B EZ AL

c P EEFFE MU AEEERIL

« 107FE M Em e BiEES




EWHE

S
l

I3SRENE =RNZE

LT

.

R TR Y e e




